CIVIL SERVICES (AIN) EXAM-2022
A (T9A-93-11)

Fuifa w5« 7 av2 Hftrhem 31 : 250

Y- Tt fawe srgem

(F 3H & IW [ 4 @ Frafafea 7@+ sgen 1 samgds ufen)

T ey € S A et # fanfa # qun R o aidsh N1 B g f)
Tienefl 1 Fa qiw YE F IW A &
T HEA1 1 3R 5 A | qon arht W # ¥ Q% @Ue A FH-A-F0 T I R O T I AR

T /9T % Ik IG% gEd ey T )

T % IW I Wit mem # fora 9 e Rmen sg@ aed waw-un # e w2, oi 5w wew oW
T TH-HE-IW (Fo Ho To) Y& F yaye W 3ifka Fffe wm w fen s =ifen) witga mem %
sfafed o Tl mem & for@ T I W FE 37 T frel

Ife s A, q IuYgH AfHS! B = HIT g9 ! ARE AR

Hawas g F foau Fsieq o t-deq anoft dom ¥

T % I TR FAGER A SR | i 9 @ Ry T wE F I A oft aea @ ol o @ e A
T | WA-HE-IW Yfeaew § el Bl 3o U8 A1 Iq% W ) WE w9 ¥ F T AR

MANAGEMENT (PAPER-II)

CRNA-S-MGMT

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5§ are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

Assume suitable data, if considered necessary, and indicate the same clearly.
F-distribution and t-distribution tables are attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.

(@)

(b)

(c)

(d)

@Uus—A / SECTION—A

T A 7FA 9 e § IR F FR0 o8 a1 B1 98 99 +ft g8 a1 @ 9« @b e |
=13 3R 7 acft | Tafiffa wm F < § 3R R, suh mlra 01 R I' wwH ' ® AR @l
F 3fe 2, T@ht wiwar 0-95 R, wafs e & fom foret 32 & wobm <man R, ol wifdepan
045 2?1

TE @ S @ 5 wee e ) sweh = i @ ol & gfe & suen www 27

A newly constructed house can collapse due to fault in its design. It can also
collapse even if it does not have a design fault. The probability that the design
of the newly constructed house is faulty is 0-1. The probability that this house
collapses if the design is faulty is 095, whereas, the probability that the house
collapses without any fault in design is 0-45.

It is seen that the house has collapsed. What is the probability that it is due to
fault in design?

‘FH-nufE faowy womell’ w1 gRfva fifsw) sEem § sas Aftew 3w f @eg §
T ifsy

Define ‘knowledge-based expert system’. Briefly discuss its major applications
in business.

“faftmfor (aegedll) Td Fa1 GEIEH F Y F AT H AR HH D W R SEged @ dan
TaTeE! & ot faemm @ifas sl % e § 38 FuA i faEem fif)
“The difference between management of manufacturing (goods) and service

operations is reducing.” Discuss this statement in the light of the fundamental
differences existing between goods and service operations.

e gferasitial B Ml Sem A T S @ ) [ 3 T AR & aie i o s
< | guF Sfeaa i gad Sta FE 8| A= F aifcrer IE1 StEl & 3R B AfEE il
1A 37 YA 4 ¢ T oo & gfomedt amnf=a gul

gferaaHt ID 1(2|3|(4|5|6|7|8]|]9]|10]11

ST 1 3% 2320|1921 |18|20|18|17|23]|16] 19

g 2 3 24 (19|22|18|20|22|20(20(23|20|17
[Sifa 5% Tneferal TR W]

(v RO 39 U % = § o ?)

Eleven police personnel were given a test in shooting. Further they were given a
month’s training and a second test of equal difficulty was conducted at the end
of it. The table below contains the marks awarded in the two tests. Do these
marks give evidence that the police personnel benefitted from the training?

Police personnel ID 1 2 3| 4 S|6|7]| 8|9 |10]11
Test 1 marks 23120(19|21|18|20|18 |17 |23 ]| 16| 19
Test 2 marks 2411912218120 |22|20(20|23]|20|17
[Test at 5% level of significance]

(Relevant table is attached at the end of this Paper)
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(e) ‘Gl ATEEHRAT AN (TWo 3TRo o)’ & Ieydl i T@ifeha HIfg Ta T8 Hifsg & fha wr

o 3Ro WMo UITel 39 LT ! TN o Fhell 2|

Outline the objectives of ‘Material Requirements Planning (MRP)’ and explain
how an MRP system can achieve these objectives.

2. (@) UH % &g fag yerus A o WA & i T aTal 318 &t % g frefefaa
iR dehfera forg 1 @ft &l o1 R TE vt fadward g 81 fosra weewues wean @

T 89 ¥ T s aifiratett i e 3 sueht fasr smet 7t wfea frn 2

a7 87 fama fas srfaatsit # ge
(¢ = #)
1 100 10
2 80 10
3 60 T
4 120 15
5 150 20
6 90 12
7 70 8
8 130 14

10

() 3w A T F o= dioET gegay e e | F® fase yerae 1 st foaem | @l

27

(i) T W wfma wied faswfia At ok @ w@m Fa g o s h TR W
iR hifste, aft 16 fasa sifiratsh 1 38 &3 & faa e sm)

The area sales manager of a company has compiled the following data for the
eight territories under his/her supervision. All the territories have similar size
and consumer characteristics. The sales manager believes that the number of
selling agents assigned to a territory has an impact on its sales revenue :

Sales territory Sales Number of selling agents
(crores of ®)

1 100 10
2 80 10
3 60 7

B 120 15
5 150 20
6 90 12
7 70 8

8 130 14

(i) Find the Pearson’s correlation coefficient between the two variables

mentioned above. Is the sales manager correct in his/her belief?

(i) Develop a linear regression model and using it, predict the sales in a
territory if 16 selling agents are assigned to it.
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(b) TH AR A 4 T SrEaaral * AH{ @us # wden T F A A1) A srRgare wh-
TR A G T IR F A9 &1 () § R &) yerem e @odt # wdten ww w9 w0
=Tedl 81 39 A ¥g O fawiw 7 v sreqar % e @ve A 10 A 1 A
wfdesl % &9 § g1 T 3R wehen g A g | Frafifaa aifee 3§ oforst @ sifififRea
TR ST 81 0-05 |efehal WR W, F1 FH1 Iedaret d hed yden ang § TR F w27

SEAA 1 STETATA 2 STETAT 3
12 7 5
8 3 4
7 7 4
6 5 5
7 5 6
4 6 4
8 8 7
5 6 8
6 4 6
7 7 4
(3T WO 39 9o % ofd o dom ¢)

A city administration conducted a study of the waiting time in the emergency
wings of three hospitals. These hospitals are located in three zones of the city
far away from each other. The administration is interested in reducing the
waiting time at the emergency wings. To study this, a random sample of 10
emergency wing cases at each hospital was selected on a particular day and
the waiting time was measured. The results are recorded in the following table.
At 0-05 level of significance, is there evidence of a difference in the average
waiting times in the three hospitals?

Hospital 1 Hospital 2 Hospital 3
112 7 5
8 3 4
7 7 4
6 S 5
7 5 6
4 6 4
8 8 7
S 6 8
6 4 6
7 7 4
(Relevant table is attached at the end of this Paper) 15
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(c)

(a)

e fafie & F @ I R R W ofite ferl @ osEst it w@d = R
200 THe I FHH W WEnd fafies Faa et iR @ 39t 81 3 e HEw 3g 98
M Tt @ R Zurer @ wfa wshe € 7,000 3R @S | wfd whe € 2,000 @1 HHT THhdl 2

30 FEcl! NEw § R & foY ufd whe 4 7 @El @ 3 2 e gl H AEvgwal g,
Safs IS & foie 9fd wehe 2 29 @Rl @ 1 & dieAns et i ravgsdar el wnend
fafiee 3 afts @ a1fte 600 27 @Rl 3R 330 2 e gl & forg ergary fomm 21

() 3@ 0EE T 9 TN AR FA F oY 73% wHa F o fran wws fiftwa =
a1fR? @ FE ffd 7 S v @ R7

(i) Sfd THE WS A AW A9 71 ¢ arf ey fafiee & fog onfde ¥ 8w f adt
g9 A7

(i) IR == A G wHS @w €2,500 A, A Wend fafite # @ dem § @w #
Aftrad FA F T 7% waa H @t fFaa twe sfiq o e i sravgear &7

Agrofarms Ltd. is a company engaged in large-scale cultivation of organic
vegetables, grains and cereals. In 200 acres of land, Agrofarms Ltd. grows only
tomatoes and onions. For the upcoming season, it estimates that it can make a
profit of ¥ 7,000 per acre of tomatoes and ¥ 2,000 per acre of onions.

During this growing season, each acre of tomatoes will require 4 tons of
fertilizers and 3 tons of pesticides, whereas each acre of onions will require
2 tons of fertilizers and 1 ton of pesticides. Agrofarms Ltd. has contracted for at
most 600 tons of fertilizers and 330 tons of pesticides.

(i How many acres of land should be devoted to each crop to maximise its
profit for the season? Is there any land that remains unfarmed?

(i) What is the minimum profit per acre of onions that would make it
economically feasible for Agrofarms Ltd. to grow onions?

(i) If the profit per acre of onions were ¥ 2,500, how many acres of land
should Agrofarms Ltd. plant of each crop to maximize the profit for the
season?

(i) Hfera (W) dem & WHife et A gEiag Hifv)

(ii) Gehfera AT & TIT 3@ (S9) wd &R WHifaE w1 v i) 3 @ TRl e1ftes v
forn st =nfew?

(iii) Fa % e wewfera e fafmior & foe defera demn @ 53 i o 27
(i) List the strategic objectives of aggregate planning.

(i) Describe the chase and level strategies for aggregate planning. Which one
of these should be preferred?

(i) How does aggregate planning in service differ from aggregate planning in
manufacturing?

10
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(b) (i) ‘w@nﬁm’wﬁm%?

(i) ‘wE AEA’ v fafy srerga’ uel @ ufenfia Hifs)
(iti) 37 = 1 Fuia IS S FHE st v fafy srerm # wfafea #)

(i) What is ‘time and motion study’?

(i) Define the terms ‘work study’ and ‘method study’.

(iii) Describe the steps involved in work study and method study.

€ (i) T =l fatwaet w5 sga fifv
(i) P-=Te 41 Bl &7

(i) 10 R (@), T @8 § 300 W &, & Figm whom Fefafaa &) v a4
IRl wat it s 25, 30, 35, 40, 45, 35, 40, 30, 20 W 50 ® :

feT® fAdféra Tt et greqer wat
(Fawer H) # g # qear

(@) (b)

4 300 25

5 300 30

6 300 35

¥ 300 40

8 300 45

10 300 35

11 300 40

12 300 30

13 300 20

14 300 50
FA G = 10 3000 350

P-9 ¥ YAt P fetfaea wa oft fimm faafie &t momn hifvig sik wam fifvie f6 =0

EERIREREL R

(i) Mention the characteristics of control charts.

(i) What is P-chart?
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(i) The following are the inspection results of 10 lots, each lot having
300 pieces. The number of defective pieces in each lot is 25, 30, 35, 40,
45, 35, 40, 30, 20 and 50 :

Date No. of pieces No. of defective
(in Novem.ber) inspected pieces found

(@) (b)

4 300 25

5 300 30

6 300 35

7 300 40

8 300 45

10 300 35

11 300 40

12 300 30

13 300 20

14 300 50

Total number = 10 3000 350

Calculate the average fraction defective and three sigma limits for P-chart,
and state whether the process is in control.

4. (q) doEG: GEA YOE H B B? U A vER FH A 27 q6E vey, Wed w6 Reqwmed
(FFAeTTSERe) H9eH HH-HH § §7
What exactly is an information system? How does it work? What are its
management, organization and technological components?

(b) -, fefvea Tl wd fefea axgell = ohenfa Aifg e fomemon et $it f@=m
Hifsre |

Define and discuss the unique features of e-commerce, digital markets and
digital goods.

(c) TN WoTeh SqaErEl B wfeugions @ WW FA ¥g weweaed (RAR), AR wmed (@R
FHERfR) au1 Jeash-niia WHfe F wam § fr ver & geea w87

How do information systems help businesses use synergies, core competencies
and network-based strategies to achieve competitive advantage?

12
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S.

(@)

(b)

(c)

(d)

(e)

(@)

@Uus—B / SECTION—B

N A H TS H G STrawsh 27 e, P @ yHeedim % Ry B
o= #ifsm)

Is State participation in business essential? Discuss the objectives of
liberalization, privatization and globalization.

fegeam gfferr ferfiiee (Too o Too) #1 wohwr (F) <o) wm <fifm % T 7o oo
Afvs T W 9 IR T giErer) Y grofar (TReAfafd) w ik 3d ) #®& o™ geHa #
o6 Frot awat § FifF 98 AU IR U6 IR=eH § gRofigar H g9E €9 @ 31
1?38 fowa ® g storan fmer & o1 et 6t g )

Take the case of Hindustan Unilever Limited (HUL). Assume that HUL
emphasizes on sustainability in its products and operations at global level. Are
you in agreement that the company is successful because it could effectively
embed sustainability into its products and operations? Give your arguments
for or against the issue.

YRd R R EE-Fatd fifs & g9y d I v fafm syl w1 sreaaes wha
HIfSTT | TRET & 39 1Y YR F AUR F I A

Critically examine the various initiatives taken by the Government of India in
respect of export-import policy. Give examples from India’s trade with the
Asian countries.

1 AW A § 6 agugE il (e o o) F g wow vd frem wRd stdferawn %
o o fote wameea 27 30 oY § Wo Wo o it saaiiies wrife! it faasm fifs)
Do you think free entry and exit of Multinational Corporations (MNCs) is

healthy for the growth of Indian economy? Discuss the business strategies of
MNCs in this context.

T Y TH-E (FH =) F IW A § MR | WSS &4 % FOsHl %y wd
yieETeR PR ¥g U =8l T SR WHifies e 6 g i faem fif)

Using a small case study, discuss the contents of a good and workable
strategic plan for management and operational control of public sector
enterprises in India.

AY-THE I (Tho Tho IMo) F Heaw H WHR H Afa 1 eraAems wham Fifv)
THo THo 3o & faw@ &I dgM T ! foaedia, werusia don uRemer woa @ w3
RdTa MRt foam o9& (3o Eo o 3mgo) qu FfY wd anfivr fasmm wda §% (TWo To
o To 3R Eo) it Wi W I TIfeAT |

Critically examine government’s policy with regard to Small-Scale Industries
(SSIs). Highlight the role of Industrial Development Bank of India (IDBI) and
National Bank for Agriculture and Rural Development (NABARD) for promotion
of growth of SSIs and for overcoming their financial, managerial and
operational sickness.
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(b)

()

(b)

(c)

“ardstr gfaEHl % 3w Ievd sRuw wd falunrd ¥1” 58wy A fRe Hifvg a3
#Hifsg T o vt wfosml 3 wer g Fifde et # ww e Ry
“Many objectives of public enterprises are not clear and are conflicting.”

Discuss the statement and point out whether public enterprises have achieved
the objectives laid down by the government.

(i) e Tk afea (o THo 3R ) T Yfhs W ¥ o9 9y &) gfear gt
Fif) faaen it 5 fFa yor @ et 3 9@ FotE f @o o 3o
Tt @ wenfea foeen 21

(i) WER WY & G&A NAF TG T F? T IRAT FR BT ATga GeEN vuiEar q
et @ @ faued ¥g waiw ¥ faasm ifv

(i) Elaborate the relationship between Corporate Social Responsibility (CSR)

and Corporate Governance. Discuss how the government regulations have
influenced CSR actions of large companies.

(i) What are the major economic impacts of cybercrime? Are the Indian
cyber-laws adequate to effectively deal with cyber-security threats?
Discuss.

“wery % faftm w0 w Rl 99 v drp i S #1738 e i fREs fifg
IeTewl afea awesy fo6 form werr faftm wadl w wn wrifast 1 whiea e s 2

“Strategies are formulated and operated at different levels of management.”
Discuss this statement.

Explain with examples how strategies operating at different levels are

15

10

10

integrated. 7+8=15

Frafafea % 3o @ swifian 6 @& § faem Hifs
(i) sito Hio o AfZa
(ii) Sfto 3o o T
(iti) GTAH (ARIZ-8) WA
Briefly discuss the meaning and utility of the following :
() BCG matrix
(i) GEC model

(i) Turnaround strategy S5x3=

A9 o e & frdl 3em § o i vfoergl 6 e wtwdl 6 fadem fifve) @y @, =
S % HEEq WHifeE Wl A veEm Hifv wE TR Agesdl B Rt W wE F
e R ey s

Discuss the Porter’s five forces of competition in an industry of your choice.
Also, identify the important strategic groups in that industry and highlight the
effects of such groups on the strategies of the market leader.

15

20
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(@)

(b) )

(i)

()

(i)

(€ ()

(@)

(iti)
(i)

(@)

(iti)

a8 forrasfier srdegeeenait & fo woae foosh Fem (Tho o 3tmg0) it wewn i
e AR @ 1 2 A AR Tho o e AEMa FA F T S WA w
wfge?

G 3§ Tho Elo 3MEo FT<IeH HI W d R sAW (L) & g wra @& R g1
gfvra sifrefe 6t st 1 fasemn Aifsm)

Discuss the importance of Foreign Direct Investment (FDI) for developing
economies like India. Should these countries go all out for attracting more
FDI?

Discuss the role of authorities created by the Government of India for
streamlining the FDI movement in India.

Yaifra A 6 fra wer fred 3m 6 @epfa 38 3w § =eem™ w3 i e[ H gifad
F THA B | HEER T Hif

TeTferhiaehal (TEARIRSE) @1 R7 I7 foRe YR SRUEE FRlEl % WaRy i wsifed il
37

Outline how the culture of a country might influence the cost of doing
business in that country. Illustrate with examples.

What is ethnocentrism? How does it influence the management of multi-
national companies?

i o U VR FA F TSEUF B S A o A hM w8, @ I8 Pyl w1
U o FH-FH ¥ TEUS F1 PN HQ B R TH IAR F w9 A Regamiew
(FFITRER) FaER (FETE) ® AfFas udime sigea e Iedee F fag
Torerfta forn s =nfee?

Fifae-19 Jmaemdh wEwd A AfE divfes W gl gEensd ® wfaa B 2
TR fF 60 YR UF 2@ Aieies SE SliEd SHaE™ H QI HEEHE 6
TvaTd AT SeR-te § i e ®9 @ g F § e gl |

T YTAEE % U e AfE W A R A A F wH-HE 4 fafim fewed 27

If you were a manager in a company that operates in many countries, what
criteria would you use to determine whether a technological innovation
should be developed as a product for global consumers or local consumers?

COVID-19 pandemic has impacted global logistics and supply chains.
Explain how an efficient logistic function can help an international business
compete more effectively in the post-pandemic global marketplace.

What are the various options a firm has to minimize its global tax liability?

* k k
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t-DISTRIBUTION
Values of ty p

A N\ 0.05 0.025 0.01 0.005
1 6.314 12.706 31.821 63.657
2 2.920 4.303 6.965 9.925
3 2.353 3.182 4.541 5.841
4 2.132 2.776 3.747 4.604
5 2.015 2.571 3.365 4.032
6 1.943 2.447 3.143 3.707
7 1.895 2.365 2.998 3.499
8 1.860 2.306 2.896 3.355
9 1.833 2.262 2.821 3.250

10 1.812 2.228 2.764 3.169

11 1.796 2.201 2.718 3.106

12 1.782 2.179 2.681 3.055

13 1.771 2.160 2.650 3.012

14 1.761 2.145 2.624 2.977

15 1.753 2.131 2.602 2.947

16 1.746 2.120 2.583 2.921

17 1.740 2.110 2.567 2.898

18 1.734 2.101 2.552 2.878

19 1.729 2.093 2.539 2.861

20 1.725 2.086 2.528 2.845

21 1.721 2.080 2.518 2.831

22 1.717 2.074 2.508 2.819

23 1.714 2.069 2.500 2.807

24 1.711 2.064 2.492 2.797

25 1.708 2.060 2.485 2.787

26 1.706 2.056 2.479 2.779

27 1.703 2.052 2.473 2.771

28 1.701 2.048 2.467 2.763

29 1.699 2.045 2.462 2.756

30 1.697 2.042 2.457 2.750

40 1.684 2.021 2.423 2.704

60 1.671 2.000 . 2.390 2.660

120 1.658 1.980 2.358 2.617
oo 1.645 1.960 2.326 2.576
CRNA-S-MGMT/17 12 SS23—198




